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	Use the graph to answer the questions directly below it.
	
	Use the graph to answer the questions directly below it.
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	1. Which are ordered pairs that would fall on the line of this equation? 

y = 3x + 1

a. (0, 1)

b. (1/3, 2)

c. (- 1, -2/3)

d. (-1,-2)

	1. If you walked from your house to the hospital and your friend walked to the hospital from his house, who would walk the farthest?
	
	2. Which are solutions to equation 2x = 5 - y?
e. (5, 0)

f. (5, -5)

g. (5/2, 0)

h. (1, -3)

	2. How much farther is it in question 1 for one of you?

	
	3. Name 3 ordered pairs that are NOT solutions to the equation in the previous question.
1. _______________

2. _______________

3. _______________

	3. If you wanted to meet your friend halfway between your two houses, where would that point be? You each want to walk the same distance.
	
	



	Use the graphs to answer the questions.
	

	1. Find the perimeter of the following figure.
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	2. Find the perimeter of the following figure.
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	3. How far is it from point A to point B moving north, south, east, or west only?
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	4. Name 3 ordered pairs that are solutions to the equation graphed below.
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	5. From problem 4, name 3 ordered pairs that are NOT solutions. Justify your answers.
	6. Find 3 ordered pairs that are solutions to 
x - y = 5 using substitution. On a graph of this equation, where would you find these ordered pairs? Why?
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Guided Practice

1. You would walk the farthest.
2. 5.8 units

3. (1/2, 3/2)
Review Practice

1. a, b, d
2. f, g
3. Any points not on the line y = 1/3x - 4/3. Examples: (-2, -1), (-1, -3), (2, -2), etc.

Independent Practice

1. 12

2. 28

3. 11 (1 up or down and 10 right)

4. (-3, -2), (-2, 0), (0, 4), etc. Any point on the line y = 2x + 4

5. Any point not on the line y = 2x + 4

6. Examples: (0, -5), (1, -4), ( 2, -3); These would be found in quadrant IV because of their negative y and positive x coordinates. The other solutions would be found in quadrants III and I because of an increasing slope and a negative y-intercept. No points are found in quadrant II.
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